


21

21

20



¢y
€
®
(4)

€y
)
®3)

¢y
)
®)

€y
)

€y
)
€)

€y
)
®)
(4)



@
)
€)
4)

¢y
)
€)

€y
)
€)
4)
®)
(6)
Q)

¢y
2
)

€y
)

€y
)



€y

100%

80%

60% [

40%

OO NEODO

20%

0%
S47 49 51 53 55 57 59 61 63 H2 4 6 8 10 12

A7 100%

3%

2%

1%

0%

-1%

-2%

-3%

-4%




2005

2600

ha

A

|
|
RSy

650

600

550

500
450

400

5002
002
€002
2002
1002
0002
6661
8661
1661
9661
G661
v66T
£661
2661
1661
0661
6861
8861
1861
9861
Sg6T
o1
€861
2861
1861
0861
6.61
8261
L1161
9161
su61
26T
€261
w6t

12

10

47 49 51 53 55 57 59 61 63

45

H13

m2

m2



700

600

500 [

400 1

300

200

100 r

)

ha

S45 S50 51 52 53 54 55 56 57 58 59 60 61 62 63 H 2 3 4

47

000

5 6 7 8 9 10 11 12

16 20 21 25 26 30

34
16 45

16 45

31 35 36 40 41 45

10

13




€)

(4)

ha

40
35 B
30 HE@ 0l
25 -~ mmmmmmn R - - - -
20 F--- - (- - - - - - - - - - - - -
5r----1" |- -
0r----1 |- -
5 ,,,,,,,,,,,,,,,,,,,,,
0
1995 2000
10
30
250
| | 217,
- ® 1 200
g 1 1 150
i 1
- 82 1 100
i 49
| 24 40 1 50
B 12

95 96 97 98

99 00 01 02



50 - 600

500

400

300

200

100

S46 48 50 52 54 56 58 60 62 H 3 5 7 9 11 13

15 3 31



€y

NS

%

<&

%

>

o

)

14

58 ) 2002 (

20

(1983 (

w HEL

B o TR



100
90 |
80 | W

70 1= falsaaWw
60 |
50
40
30 —— H
20 —a—
10

0
74 76 78 80 82 84 86 83 90 92 94 96 98 00

NPO

)

20



o a a
38 | 62 | 22 | 76 Bl
0.1h:
2ona e | 62 | 2oma 2| i B
20-100ha 65 | 35 | 20-100ha 64 | 36 |
100ha 76 Y 100ha 66 | 34 |
0% 20% 40% 60% 80% 100% 0% 20% 40% 60% 80% 100%
m3
140000 o N
| — |
120000 | _ . —
100000 f N -0 ] 0
3 NN I I
80,000 —IN
N
NS H
60000 i
) LU Q\ H
AHHH L ! » Y
40,000 i T I
SAHHHAUHHHHUM Il e |
20,000 TN HHKEH
o WLILVLP LT PP TP IL LT IL LD E LT L LT LTI LD LT,
B h 3 3 8 €& 5 @ ¥ R 2 K R 8 8 83 % & 2 & 8 &5 & 3
(=2} o (=} (=} [=}] [=}) (=2} (=} [=}] [=}) [} o [} (=} [=}] [=}) [} o [=}] [=}) (=2} [=}) (=2} o
- - - - - - - - - - - - - - - - - - - - - - - o~
2001 10
1300 3.9 4767 CO2
3.9
2002 12
10 2003 10
1997 2003

-8 -

(%)

100
90
80
70
60
50
40
30
20
10



1200
1000
800
600
400
200

NN

€)




15

2000

70

1945

18.

13

I—7
=35
[— 33
(-] 28
|===lyg
122
18
16
13
b10
L]
as

gs

fs

JON

- 10

15

1978

38



¢y

12

(2 | 20 (I - - )
B 13

LD LIl el

iE - el gl ileiss oot R e e oo,
PR L TR o T

20
30

-11 -



9,000

8,000
7,000 |
6,000 |
5000
4,000
3,000 |
2,000
1,000

)

1991 1992 1993 1994 1995 1996 1997 1998 1999 2000

0.7
IPCC
1.4 5.8

2008 12
3.9%

3.9

20,000 400
1 350
15000 [ 1 300
1 250
10,000 1 200
1 150
5000 [ 1 100
1 50
0 0
1991 1992 1993 1994 1995 1996 1997 1998 1999 2000
1.225
1.225m3
1997
2002
1990
100 1.0
1990 2100
2100 0.09 0.88
1990 6

-12 -



2.8m

2001 2001

SOx NOx

€)

-13 -



385
38.0 386
375
37.0 375
36.5
1983 1985 1988 1992
km2
3 4
70.9 71.0 30%
18.9 18.3 44%
2.1 2.1 26%
38.6 37.5
NPO

- 14 -

2,662



2003.3

- 15 -



€y

10

7000
6000
5000
4000
3000
2000
1000 H

o Il

Il

1945 50 55 60 65 70 75 80 8 90 95 2000

\[l\l]\ il \D\I]\D\I]\I]\D\I]\D\I]\ﬂ\ml]\[l\ Natnananlnnnaeceme Dalliocama

500
O —
400 [ ]
300 —O
m}
100 ﬂ H ﬂ
0 E\H\H\ ! T — \E\:\H\B\ I \Q\H
1987 89 91 93 95 97 99 2001

-16 -



6,000 r

 — |
5000 |—®
+

4000
3000 [ .-
2000

1,000 r

72 77

1999

65

- 17 -

82

87

ha

<>

92

15

64

97

2000

50
45
40
35
30
25
20
15
10

ha



2050 2.

6
15 64
100 87 002000
8.0
8.0 - 0 2025
—— |l 2050

60

3.7 4.1
40 ™ 26 28
S = ‘N
0.0

,1993.5
12
( 141 )
( )
( ) (
)
( 14 1 ) 1995 2000
65
) v) y=2.67x-148.74
(r=0.955) 5
@
2003

- 18 -



-19 -

=
O
5}
|,



€y

( )
1200 ha 242 215 199 Aoy 250
132
79
4 170 ha
|_ 118
479 ha 262 217 4 35
13 |_ 64
0 200 400 600 800 1000 1200 ha
1600 60.0% 90
1400 5004 80
1200 70
1000 40.0% gg
800 30.0% 20 F
600 20.0% 30 F
At
10.0%
200 10
g > Ji_N_N_N.§
1975 1980 1985 1990 1995 2000 1990 1992 1994 1996 1998 2000
[ | — —o— ‘ ] -] O

-20 -



20 30
15 [ 1 25
1 20
10 | 1 15
1 10
5 L
15
0 0
11 12 13 14
2)
2,500
=
2000 ——
1980 e | e
1000 r
500
0

1990 1991 1992 1993 1994 1995 1996 1997 1998 1999 2000 2001

20ha 500ha

-21 -




( ha)

14,000 30
12,000 25
10,000 20
8,000 | 15/=
6,000 | —_—
4000 I 10
2,000 5
0 0
1980 1990 2000
1980 1986 1993 1999 e
0 ‘ ; ; .
1L e . .
2t A
3 A ——
4F N «
5 L
6 &
e
.
s & —_
o L —
(SB5)
(S61)
(H5) (H11)
500'000 P R e — 50.0
450,000 439,405 == 4 450
400000 R 1 400
350,000 | 1 350
10 300000 | 261671 1 300
250,000 1.725.0
200,000 200
150,000 15.0
100,000 10.0
50,000 50
0 00
2002

1960 1965 1970 1975 1980 1985 1990 1995 2000

-22 -



€)

- 23 -






(1990-2000 )
2000 5.0%

I!!I!!IIIII
1500 4.0%

3.0%

1000
2.0%
500 1.0%
0 0.0%

®3)

(n=1742/ )
5 10
(n=149)
2 5
(n=338)
1 2
(n=412)
5 1
(n=465)
5 (n=373)

0% 10% 20% 30% 40% 50% 60% 70% 80%

2,961

- 25 -



(4)

- 26 -



- 27 -






€y

)

- 29 -



®3)

(4)

- 30 -



€y

)

- 31 -



€)

€y

21

- 32 -



) ®3)

)

- 33 -



€)

-34 -



(4)

10

- 35 -



®)

(6)

@

- 36 -



¢y

)

- 37 -



- 38 -



€)

-39 -



¢y

)

- 40 -



€y

CO2

- 41 -



)

- 42 -



€y
)
€)

@
¢)
®)

21

- 43 -






1997 12

1970

1994 11




bio mass

7.4 m 1999
750 m’ 100






15

15

15

15

15

15

15

15

15

15

10

10

10

11

12

29

21

18

18

27

10



